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Paper part g el
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Question 1 Ji
4x+2y=-14
20X + 3y = —-17

(=3)(4x +2y) = (-3)(-14) q,
(2)(5x + 3y) = (2)(-17)

-12x -6y =42 @
10x + 6y = —34

4(-4)+2y=-14 @
-16+2y=-14 (1)
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Question 2
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0 <2 - (0,0) € solution (1)

[he solution set is the intersection of the two granhs. (1)
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(0,0)-0<3(0)+2 @

0<2-(0,0)0€ Ja @
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Question 3

a’ — 4ac + ab — 4bc

@ ® ® @

= ala — 4c) + b(a — 4c¢)

= (a—4c)(a+b) @2




2023/2022 IIJU.H 'F""J‘"" Juaill paals E_.uli." —deall n:nl.J..hL:,.“ aala laeial Taxeal Jada
Grade G9-adv End of Term 2 Mathematics Exam Marking Guidelines 2022/2023

veves BONUS ##vee
Mark daall
Question 4 il
6! =216
61 = 63 @
x-1=3 @
=1+3 @
X =

t®
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Question 5
The domain is {x: x > 0} @ @ {x:x =0} » Jaad
The range is {y: y > 1} @ @ {y:y > 1)} s3d




